EULER SUMS EVALUATABLE FROM INTEGRALS

MYUNGHO JUNG, YOUNG JOON CHO AND JUNESANG CHOI

ABSTRACT. Ever since the time of Euler, the so-called Euler sums have been evaluated in many different ways. We give here a proof of the classical Euler sum by following Lewin's method. We also consider some related formulas involving Euler sums, which are evaluatable from some known definite integrals.

1. Introduction and preliminaries

The Riemann Zeta function $\zeta(s)$ is defined by (1.1)

$$\zeta(s) := \begin{cases} \sum_{n=1}^{\infty} \frac{1}{n^s} = \frac{1}{1 - 2^{-s}} \sum_{n=1}^{\infty} \frac{1}{(2n - 1)^s} & (\Re(s) > 1) \\ (1 - 2^{1-s})^{-1} \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^s} & (\Re(s) > 0; \ s \neq 1), \end{cases}$$

which can, except for a simple pole at s = 1 with its residue 1, be continued meromorphically to the whole complex s-plane. The Hurwitz (or generalized) Zeta function $\zeta(s, a)$ defined by

(1.2)
$$\zeta(s,a) := \sum_{k=0}^{\infty} \frac{1}{(k+a)^s}$$
$$(\Re(s) > 1; \ a \notin \mathbb{Z}_0^- := \{0, -1, -2, \dots\}),$$

Received September 18, 2003.

²⁰⁰⁰ Mathematics Subject Classification: Primary 42A24, 11M99; Secondary 33B15, 42A16.

Key words and phrases: Euler sums, Gamma function, (generalized) harmonic numbers, Psi function, Polygamma function, Riemann Zeta function, Hurwitz Zeta function, Polylogarithm function.

This work was supported by the Korea Science and Engineering Foundation under Grant R05-2003-000-10441-0 for the third-named author.

can, just as $\zeta(s)$, be continued meromorphically to the whole complex s-plane except for a simple pole at s=1 with its residue 1 (see, for details, [23] and [24]). Clearly, we have

(1.3)
$$\zeta(s,1) = \zeta(s) = (2^s - 1)^{-1} \zeta(s, \frac{1}{2})$$
 and $\zeta(s,2) = \zeta(s) - 1$.

The following identity was discovered by Euler in 1775 and has a long history (see, for example, [4, p. 252 et seq.]):

(1.4)
$$\sum_{n=1}^{\infty} \frac{H_n}{(n+1)^2} = \frac{1}{2} \sum_{n=1}^{\infty} \frac{H_n}{n^2} = \zeta(3),$$

where $H_n := H_n^{(1)}$ denotes the harmonic numbers and $H_n^{(s)}$ denotes the generalized harmonic numbers defined by

(1.5)
$$H_n^{(s)} := \sum_{k=1}^n \frac{1}{k^s} \quad (n \in \mathbb{N} := \{1, 2, 3, \dots\}; \ s \in \mathbb{C}),$$

so that, obviously, we have

(1.6)
$$H_n^{(s)} = \zeta(s) - \zeta(s, n+1) \quad (\Re(s) > 1; \ n \in \mathbb{N}).$$

The identity (1.4) is a special case of the following more general sum due to Euler:

$$(1.7) \ 2\sum_{k=1}^{\infty} \frac{H_k}{k^n} = (n+2)\zeta(n+1) - \sum_{k=1}^{n-2} \zeta(n-k)\zeta(k+1) \quad (n \in \mathbb{N} \setminus \{1\}),$$

or, equivalently,

$$(1.8) \ 2\sum_{k=1}^{\infty} \frac{H_k}{(k+1)^n} = n\,\zeta(n+1) - \sum_{k=1}^{n-2} \zeta(n-k)\,\zeta(k+1) \quad (n \in \mathbb{N} \setminus \{1\}),$$

where (and in what follows) an empty sum is understood to be nil.

Many different techniques have been used, in the vast mathematical literature, in order to evaluate harmonic sums of the types (1.4) and (1.8). For example, Borwein and Borwein [5] established the following

interesting sums by applying Parseval's identity to a Fourier series and contour integrals to a generating function:

(1.9)
$$\sum_{n=1}^{\infty} \left(\frac{H_n}{n+1} \right)^2 = \frac{11}{4} \zeta(4),$$

(1.10)
$$\sum_{n=1}^{\infty} \left(\frac{H_n}{n} \right)^2 = \frac{17}{4} \zeta(4),$$

(1.11)
$$\sum_{n=1}^{\infty} \frac{H_n}{n^3} = \frac{5}{4} \zeta(4).$$

We give here a proof of the Euler sum (1.8) by following Lewin's method and consider some formulas related to Euler sums.

For the sake of ready reference in our present investigation, we recall here the definitions of the Polylogarithm functions $\text{Li}_n(z)$ $(n \in \mathbb{N})$ and the Polygamma functions $\psi^{(n)}(z)$ $(n \in \mathbb{N})$ as follows:

(1.12)
$$\operatorname{Li}_{n}(z) := \sum_{k=1}^{\infty} \frac{z^{k}}{k^{n}} \quad (|z| \leq 1; \ n \in \mathbb{N} \setminus \{1\})$$
$$= \int_{0}^{z} \operatorname{Li}_{n-1}(t) \frac{dt}{t} \quad (n \in \mathbb{N} \setminus \{1, 2\})$$

and

$$(1.13) \quad \psi^{(n)}(z) := \frac{d^{n+1}}{dz^{n+1}} \log \Gamma(z) = \frac{d^n}{dz^n} \psi(z) \quad (n \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}),$$

where $\psi^{(0)}(z) := \psi(z)$ denotes the Psi (or Digamma) function defined by

(1.14)
$$\psi(z) := \frac{d}{dz} \log \Gamma(z) = \frac{\Gamma'(z)}{\Gamma(z)} \quad \text{or} \quad \log \Gamma(z) = \int_1^z \psi(t) dt$$

in terms of the classical Gamma function. Furthermore, in terms of the Hurwitz Zeta function $\zeta(s, a)$ defined by (1.2), we have the relationship:

(1.15)
$$\psi^{(n)}(z) = (-1)^{n+1} n! \, \zeta(n+1, z) \quad (n \in \mathbb{N}).$$

2. Certain Euler sums evaluatable from definite integrals

Setting x = 1 in equation (7.65) in Lewin [13, p. 204] gives

(2.1)
$$\int_0^1 \log t \left\{ \log(1-t) \right\}^2 \frac{dt}{t} = -\frac{\zeta(4)}{2}.$$

By using the Maclaurin series expansion of log(1-t), we obtain

(2.2)
$$\{\log(1-t)\}^2 = \sum_{k=2}^{\infty} \frac{2}{k} \left(\sum_{j=1}^{k-1} \frac{1}{j}\right) t^k \quad (-1 \le t < 1).$$

We recall a known integral formula:

(2.3)
$$\int t^n \log(at) dt = t^{n+1} \left[\frac{\log(at)}{n+1} - \frac{1}{(n+1)^2} \right] \quad (n > 0),$$

which, upon setting a = 1 and n = k - 1, yields

(2.4)
$$\int t^{k-1} \log t \, dt = t^k \left[\frac{\log t}{k} - \frac{1}{k^2} \right] \quad (k > 1)$$

and

(2.5)
$$\int_0^1 t^{k-1} \log t \, dt = -\frac{1}{k^2} \quad (k \ge 1).$$

It follows from (2.2) and (2.5) that

$$\int_0^1 \log t \left\{ \log(1-t) \right\}^2 \frac{dt}{t} = 2 \sum_{k=2}^\infty \frac{1}{k} \left(\sum_{j=1}^{k-1} \frac{1}{j} \right) \int_0^1 t^{k-1} \log t \, dt$$
$$= -\sum_{k=2}^\infty \frac{1}{k^3} \left(\sum_{j=1}^{k-1} \frac{1}{j} \right),$$

which, in view of (2.1), gives a known Euler sum:

(2.6)
$$\sum_{n=1}^{\infty} \frac{H_n}{(n+1)^3} = \frac{1}{4} \zeta(4),$$

which is easily seen to be equivalent to (1.11).

Recall an integral formula (see [13, p. 310, equation (7)]):

$$\int_0^x \frac{\{\log(1+t)\}^2}{t} dt$$

$$(2.7) = \log x \{\log(1+x)\}^2 - \frac{2}{3} \{\log(1+x)\}^3$$

$$-2 \log(1+x) \operatorname{Li}_2\left(\frac{1}{1+x}\right) - 2\operatorname{Li}_3\left(\frac{1}{1+x}\right) + 2\operatorname{Li}_3(1).$$

By applying (2.2) to (2.7), we obtain (2.8)

$$\int_0^x \frac{\{\log(1+t)\}^2}{t} dt = 2 \sum_{k=2}^\infty \frac{(-1)^k}{k^2} \left(\sum_{j=1}^{k-1} \frac{1}{j} \right) x^k \quad (-1 < x \le 1).$$

Setting x = 1 in (2.7) and (2.8), and considering the following known identities:

(2.9)
$$\operatorname{Li}_{2}\left(\frac{1}{2}\right) = \frac{1}{2}\zeta(2) - \frac{1}{2}(\log 2)^{2}$$

and

(2.10)
$$\operatorname{Li}_3\left(\frac{1}{2}\right) = \frac{7}{8}\zeta(3) - \frac{1}{2}\zeta(2)\log 2 + \frac{1}{6}(\log 2)^3$$

we get

(2.11)
$$\int_0^1 \frac{\{\log(1+t)\}^2}{t} dt = \frac{1}{4} \zeta(3)$$

and

(2.12)
$$\sum_{k=1}^{\infty} \frac{(-1)^{k+1} H_k}{(k+1)^2} = \frac{1}{8} \zeta(3).$$

Recall another integral formula similar to (2.7) (see [13, p. 310, equation (6)]):

(2.13)
$$\int_0^x \frac{\{\log(1-t)\}^2}{t} dt$$

$$= \log x \{\log(1-x)\}^2$$

$$+ 2 \log(1-x) \operatorname{Li}_2(1-x) - 2 \operatorname{Li}_3(1-x) + 2 \operatorname{Li}_3(1).$$

Employing (2.13), similarly as in getting (2.12) and (2.13), we have the formula (1.4) and

(2.14)
$$\sum_{k=1}^{\infty} \frac{H_k}{2^k (k+1)^2} = \frac{1}{4} \zeta(3) - \frac{1}{3} (\log 2)^3.$$

3. Further analysis of Lewin's method

We begin by recalling the Eulerian first integral (see [13, 7.9.5]): (3.1)

$$\int_0^1 (1-t)^{\lambda} t^{\mu-1} dt = \frac{\Gamma(1+\lambda) \Gamma(1+\mu)}{\mu \Gamma(1+\lambda+\mu)} \quad (\Re(\lambda) > -1; \ \Re(\mu) > 0).$$

We obtain, by multiple differentiation of (3.1) with respect to λ and μ , (3.2)

$$\int_0^1 \left\{ \log(1-t) \right\}^n (\log t)^m \frac{dt}{t} = D_\lambda^n D_\mu^m \left[\frac{\Gamma(1+\lambda) \Gamma(1+\mu)}{\mu \Gamma(1+\lambda+\mu)} \right] \bigg|_{\lambda=\mu=0}.$$

If we put $y = \log \Gamma(1 + \lambda) + \log \Gamma(1 + \mu) - \log \Gamma(1 + \lambda + \mu)$, with the aid of (1.15), we have

$$D^{q}_{\mu} D^{p}_{\lambda} y = (-1)^{p+q-1} (p+q-1)! \zeta(p+q, 1+\lambda+\mu)$$

and so

$$D_{\lambda}^{p} D_{\mu}^{q} y \Big|_{\lambda = \mu = 0} (-1)^{p+q-1} (p+q-1)! \zeta(p+q)$$

and

$$y = \sum_{p=1}^{\infty} \sum_{q=1}^{\infty} \frac{D_{\lambda}^{p} D_{\mu}^{q} y\big|_{\lambda=\mu=0}}{p! \, q!} \, \lambda^{p} \, \mu^{q}.$$

We thus have

(3.3)
$$\int_{0}^{1} {\{\log(1-t)\}^{n} (\log t)^{m} \frac{dt}{t}} = D_{\mu}^{m} D_{\lambda}^{n} \left[\frac{1}{\mu} \exp\left(-\sum_{p=1}^{\infty} \sum_{q=1}^{\infty} \lambda^{p} \mu^{q} A_{p,q}\right) \right] \Big|_{\lambda=\mu=0}},$$

where, for convenience,

$$A_{p,q} := (-1)^{p+q} \frac{(p+q-1)!}{p! \, q!} \, \zeta(p+q).$$

If we put

$$\sum_{q=1}^{\infty} \mu^q A_{p,q} := B_p,$$

then (3.3) can be rewritten in the following form:

(3.4)
$$\int_0^1 {\{\log(1-t)\}^n (\log t)^m \frac{dt}{t}}$$

$$= D_\mu^m D_\lambda^n \left[\frac{1}{\mu} \exp\left(-\sum_{p=1}^\infty \lambda^p B_p\right) \right] \bigg|_{\lambda=\mu=0}.$$

In particular, the special case of (3.4) when n = 2 yields

(3.5)
$$\int_{0}^{1} (\log t)^{m} \{\log(1-t)\}^{2} \frac{dt}{t}$$

$$= D_{\mu}^{m} D_{\lambda}^{2} \left[\frac{1}{\mu} \exp\left(-\sum_{p=1}^{\infty} \lambda^{p} B_{p}\right) \right] \Big|_{\lambda=\mu=0}$$

$$= D_{\mu}^{m} \left[\frac{1}{\mu} \left\{ (B_{1})^{2} - 2B_{2} \right\} \right] \Big|_{\mu=0}.$$

Note that

$$(B_1)^2 = \left(\sum_{q=1}^{\infty} A_{1,q} \mu^q\right)^2 = \sum_{q=2}^{\infty} C_q \mu^q,$$

where

$$C_q := \sum_{j=1}^{q-1} A_{1,j} A_{1,q-j}.$$

We find that

$$\frac{1}{\mu} \left\{ (B_1)^2 - 2B_2 \right\} = -2A_{2,1} + \sum_{q=1}^{\infty} \left(C_{q+1} - 2A_{2,q+1} \right) \mu^q$$

and

$$D_{\mu}^{m} \left[\frac{1}{\mu} \left\{ (B_{1})^{2} - 2B_{2} \right\} \right] \bigg|_{\mu=0} = m! \left(C_{m+1} - 2A_{2,m+1} \right) \quad (m \in \mathbb{N}_{0}).$$

We thus have

$$\int_0^1 (\log t)^m \{\log(1-t)\}^2 \frac{dt}{t}$$

$$= m! (-1)^m \left[(m+2)\zeta(m+3) - \sum_{j=1}^m \zeta(1+j)\zeta(m+2-j) \right],$$

which, upon considering (2.2) and

(3.6)
$$\int_0^1 t^{k-1} (\log t)^m dt = \frac{(-1)^m m!}{k^{m+1}},$$

yields an evaluation of the following Euler sum:

(3.7)
$$\sum_{k=1}^{\infty} \frac{H_k}{(k+1)^{m+2}} = \frac{m+2}{2} \zeta(m+3) - \frac{1}{2} \sum_{j=1}^{m} \zeta(1+j) \zeta(m+2-j) \quad (m \in \mathbb{N}_0),$$

which is easily seen to be equivalent to the classical Euler sum (1.8). It is also seen that

(3.8)
$$D_{\lambda}^{n} \left[\exp \left(-\sum_{p=1}^{n} \lambda^{p} B_{p} \right) \right] \Big|_{\lambda=0}$$

$$= n! \sum_{\substack{k_{1}, k_{2}, \dots, k_{n} \in \mathbb{N}_{0} \\ k_{1}+2k_{2}+\dots+nk_{n}=n}} (-1)^{k_{1}+k_{2}+\dots+k_{n}} \frac{B_{1}^{k_{1}} B_{2}^{k_{2}} \cdots B_{n}^{k_{n}}}{k_{1}! k_{2}! \cdots k_{n}!},$$

which, for n=2, immediately yields

(3.9)
$$D_{\lambda}^{2} \left[\exp \left(-\sum_{p=1}^{2} \lambda^{p} B_{p} \right) \right] \Big|_{\lambda=0} = B_{1}^{2} - 2 B_{2}.$$

Observe

$$\begin{split} B_i{}^{k_i} &= \left(\sum_{q=1}^{m+1} \, A_{i,q} \, \mu^q\right)^{k_i} \, + \, \text{terms of degrees} \, \geq m+2 \, \text{in} \, \, \mu \\ &= \sum_{j=0}^{(m+1) \, k_i} \, E_j^{(i)} \, \mu^j \, + \, \text{terms of degrees} \, \geq m+2 \, \text{in} \, \, \mu, \end{split}$$

where, for $i = 1, 2, \ldots, n$,

$$(3.10) \quad E_{j}^{(i)} := \sum_{\substack{\ell_{1}, \ell_{2}, \dots, \ell_{m+1} \in \mathbb{N}_{0} \\ \ell_{1} + \ell_{2} + \dots + \ell_{m+1} = k_{i} \\ \ell_{1} + 2 \ell_{2} + \dots + (m+1) \ell_{m+1} = j}} \frac{k_{i}! A_{i,1}^{\ell_{1}} A_{i,2}^{\ell_{2}} \cdots A_{i,m+1}^{\ell_{m+1}}}{\ell_{1}! \ell_{2}! \cdots \ell_{m+1}!}.$$

We find that the term in μ^{m+1} of

$$\prod_{i=1}^{n} B_{i}^{k_{i}} = \prod_{i=1}^{n} \left(\sum_{j=0}^{(m+1)k_{i}} E_{j}^{(i)} \mu^{j} \right)$$

is

$$\left(\sum_{\substack{j_1,j_2,\ldots,j_n\in\mathbb{N}_0\\j_1+j_2+\cdots+j_n=m+1}} E_{j_1}^{(1)} E_{j_2}^{(2)} \cdots E_{j_n}^{(n)}\right) \mu^{m+1}$$

and so

(3.11)
$$D_{\mu}^{m} \left[\frac{1}{\mu} B_{1}^{k_{1}} B_{2}^{k_{2}} \cdots B_{n}^{k_{n}} \right] \Big|_{\mu=0}$$

$$= m! \sum_{\substack{j_{1}, j_{2}, \dots, j_{n} \in \mathbb{N}_{0} \\ j_{1}+j_{2}+\dots+j_{n}=m+1}} E_{j_{1}}^{(1)} E_{j_{2}}^{(2)} \cdots E_{j_{n}}^{(n)}.$$

It follows from (3.4), (3.8), and (3.11) that

$$\int_{0}^{1} \{\log(1-t)\}^{n} (\log t)^{m} \frac{dt}{t}$$

$$= n! \, m! \sum_{\substack{k_{1}, k_{2}, \dots, k_{n} \in \mathbb{N}_{0} \\ k_{1}+2k_{2}+\dots+nk_{n}=n}} \frac{(-1)^{k_{1}+k_{2}+\dots+k_{n}}}{k_{1}! \, k_{2}! \, \cdots k_{n}!}$$

$$\times \left(\sum_{\substack{j_{1}, j_{2}, \dots, j_{n} \in \mathbb{N}_{0} \\ j_{1}+j_{2}+\dots+j_{n}=m+1}} E_{j_{1}}^{(1)} \, E_{j_{2}}^{(2)} \, \cdots E_{j_{n}}^{(n)} \right),$$

where $E_{j_i}^{(i)}$ (i=1, 2, ..., n) are given as in (3.10). It is remarked that the integral in (3.12) is evaluated in terms of $\zeta(s)$ and can be changed in the following form:

$$\int_0^{\frac{\pi}{2}} (\log \sin \theta)^m (\log \cos \theta)^n \cot \theta d\theta,$$

by substituting $t = \sin^2 \theta$, as commented in Lewin [13, p. 222].

References

- [1] V. S. Adamchik and H. M. Srivastava, Some series of the Zeta and related functions, Analysis 18 (1998), 131-144.
- [2] D. H. Bailey, J. M. Borwein, and R. Girgensohn, Experimental evaluation of Euler sums, Experiment. Math. 3 (1994), 17-30.
- [3] A. Basu and T. M. Apostol, A new method for investigating Euler sums, Ramanujan J. 4 (2000), 397-419.
- [4] B. C. Berndt, Ramanujan's Notebooks, Part I, Springer-Verlag, New York, Berlin, Heidelberg, and Tokyo, 1985.
- [5] D. Borwein and J. M. Borwein, On an intriguing integral and some series related to $\zeta(4)$, Proc. Amer. Math. Soc. 123 (1995), 1191–1198.
- [6] D. Borwein, J. M. Borwein, and R. Girgensohn, Explicit evaluation of Euler sums, Proc. Edinburgh Math. Soc. (Ser. 2) 38 (1995), 277-294.
- [7] J. M. Borwein and R. Girgensohn, Evaluation of triple Euler sums, Electron. J. Combin. 3 (1996), no. 1, Research Paper 23, 27 pp. (electronic).
- [8] P. Bracken, Euler's formula for Zeta function convolutions, Amer. Math. Monthly 108 (2001), 771-778.
- [9] R. E. Crandall and J. P. Buhler, On the evaluation of Euler sums, Experiment. Math. 3 (1994), 275-285.
- [10] P. J. de Doelder, On some series containing $\psi(x) \psi(y)$ and $(\psi(x) \psi(y))^2$ for certain values of x and y, J. Comput. Appl. Math. 37 (1991), 125–141.
- [11] P. Flajolet and B. Salvy, Euler sums and contour integral representations, Experiment. Math. 7 (1998), 15-35.
- [12] M. E. Hoffman, Multiple harmonic series, Pacific J. Math. 152 (1992), 275-290.
- [13] L. Lewin, Polylogarithms and Associated Functions, Elsevier (North-Holland), New York, London, and Amsterdam, 1981.
- [14] C. Markett, Triple sums and the Riemann Zeta function, J. Number Theory 48 (1994), 113-132.
- [15] N. Nielsen, Die Gammafunktion, Chelsea Publishing Company, Bronx, New York, 1965.
- [16] G. Pólya and G. Szegö, Problems and Theorems in Analysis (Translated from the German by D. Aeppli), vol. I, Springer-Verlag, New York, Heidelberg, and Berlin, 1972.
- [17] Th. M. Rassias and H. M. Srivastava, Some classes of infinite series associated with the Riemann Zeta and Polygamma functions and generalized harmonic numbers, Appl. Math. Comput. 131 (2002), 593-605.
- [18] L.-C. Shen, Remarks on some integrals and series involving the Stirling numbers and $\zeta(n)$, Trans. Amer. Math. Soc. **347** (1995), 1391–1399.
- [19] R. Sitaramachandrarao, A formula of S. Ramanujan, J. Number Theory 25 (1987), 1-19.
- [20] R. Sitaramachandrarao and A. Sivaramsarma, Some identities involving the Riemann Zeta function, Indian J. Pure Appl. Math. 10 (1979), 602–607.
- [21] _____, Two identities due to Ramanujan, Indian J. Pure Appl. Math. 11 (1980), 1139-1140.
- [22] R. Sitaramachandrarao and M. V. Subbarao, Transformation formulae for multiple series, Pacific J. Math. 113 (1984), 471–479.

- [23] H. M. Srivastava and J. Choi, Series Associated with the Zeta and Related Functions, Kluwer Academic Publishers, Dordrecht, Boston, and London, 2001.
- [24] E. T. Whittaker and G. N. Watson, A Course of Modern Analysis: An Introduction to the General Theory of Infinite Processes and of Analytic Functions; With an Account of the Principal Transcendental Functions, 4th ed., Cambridge University Press, Cambridge, London, and New York, 1963.
- [25] G. T. Williams, A new method of evaluating $\zeta(2n)$, Amer. Math. Monthly **60** (1953), 19–25.
- [26] D. Zagier, Values of Zeta functions and their applications, First European Congress of Mathematics, Vol. II (Paris, 1992) A. Joseph, F. Mignot, F. Murat, B. Prum, and R. Rentschler, Editors, 497–512, Progr. Math. 120, Birkhäuser, Basel, 1994.

Myungho Jung Department of Mathematics College of Natural Sciences Pusan National University Pusan 609-735, Korea

Young Joon Cho
Department of Mathematics Education
Pusan National University
Pusan 609-735, Korea
E-mail: choyj79@hanmail.net

Junesang Choi
Department of Mathematics
College of Natural Sciences
Dongguk University
Kyongju 780-714, Korea
E-mail: junesang@mail.dongguk.ac.kr